
𝑇(𝑛) = {
1, 𝑛 = 1

3T(n − 1) + (1/n)  𝑛 > 1
 

 

𝑇(𝑛) = 3T(n − 1) + (
1

n
)   𝑘 = 1 

 

𝑇(𝑛) = 3 [3T(n − 1 − 1) + (
1

n − 1
)] + (

1

n
) == 9T(n − 2) + 3 (

1

n − 1
) + (

1

n
)   𝑘 = 2 

 

𝑇(𝑛) = 9 [3T(n − 2 − 1) + (
1

n − 2
)] + 3 (

1

n − 1
) + (

1

n
) =

= 27T(n − 3) + 9 (
1

n − 2
) + 3 (

1

n − 1
) + (

1

n
)   𝑘 = 3 

 

𝑇(𝑛) = 27 [3T(n − 3 − 1) + (
1

n − 3
)] + 9 (

1

n − 2
) + 3 (

1

n − 1
) + (

1

n
) =

= 81T(n − 4) + 27 (
1

n − 3
) + 9 (

1

n − 2
) + 3 (

1

n − 1
) + (

1

n
)   𝑘 = 4 

 

𝑇(𝑛) = 3𝐾 ∙ 𝑇(𝑛 − 𝑘) + ∑ 3𝑖 (
1

𝑛 − 𝑖
)

𝑘−1

𝑖=0

 

 

𝑐𝑜𝑚𝑜 𝑇(1) = 1  =>  𝑛 − 𝑘 = 1   =>   𝑘 = 𝑛 − 1 

 

𝑇(𝑛) = 3𝑛−1 ∙ 𝑇(𝑛 − (𝑛 − 1)) + ∑ 3𝑖 (
1

𝑛 − 𝑖
)

𝑛−2

𝑖=0

 

 

𝑇(𝑛) = 3𝑛−1 + ∑ 3𝑖 (
1

𝑛 − 𝑖
)

𝑛−2

𝑖=0

 

∅ ∈ (3𝑛) 

 

 


